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You could leave this function in vertex form.
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Nice solution to this problem Vrinda!
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Vrinda you have done an outstanding
job on this submission. The solutions
that were submitted were very well or-
ganized and fully justified your reason-
INg. You have demonstrated a great
foundation of quadratics functions and
their applications.

Assignment Mark: 45/45
Communication Mark: 5/5
Total Mark: 50/50
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Vrinda you have done an outstanding job on this submission.  The solutions that were submitted were very well organized and fully justified your reasoning.  You have demonstrated a great foundation of quadratics functions and their applications.

Assignment Mark:           45/45
Communication Mark:       5/5
Total Mark:                      50/50




